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2.2 B o = tant 22 W _ 51 340 D 3 = tant22™ _ 59 g
2m 1.5m
(a) [parallelogram law] (b) [triangle rule]

R=575N, 6 =67° R=575N 67°

(  2) a+ 8 = 51.34° + 59.04° = 110.68°
0 = a+d =51.34° + §
v = 180° - (B+60) = 180° - (B+a+0J) = 180° - (110.68° +4) = 69.32° - §

160N _ 500N
sind sinvy
sin(69.32° - 4)

[ sin(A-B) = sinA cosB - cosA sinB ]
sin69.32° cosd - €0s69.32° sind
(500 N) sing = (160 N) (sin69.32° cosd - €0s69.32° sinyg)
[(500 N) + (160 N) c0s69.32°] siné = (160 N) sin69.32° cosd
(556.50 N) sind = (149.69 N) cosé

149.69 N

— 2 OIN — -1 — o
tand = 556.50 N 0.2690 0 = tan "0.2690 = 15.06

0 = 51.34° +15.06° = 66.40°

siny

R _ 160N
sin(a+ ) " sind
_ sinl110.68°
R = (160 N) sinls 06" - 576.11 N

R =576 N 66.4°
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A 10°
28° Tov 28° o
F o
F, = 300 N, a = 90° - 28° = 62°, B = 90° - 10° = 80°
sine LI IS 2
sina ~ sinf ~ sin38°
Fsina (120 N) sin62° _
@ 5, = oo = R = 107.6 N
_ Fysin38°  (120N)sin38°
(b) R = sing - sin80 ° = 750N
2.10
360 N /350 o 300 N 360 N/ 350
g
@ sina  _ sin35°
360 N 300 N 300 N\ o
. (360N)sin35° _
sina = 300 N = 0.6883

a = sin'0.6883 = 43.5°

(b) 8 = 180° - (43.5° + 35°) = 101.5°
R 300N
sinl01.5° =~ sin35°

(300 N) sinl01.5°
sin35°

R = = 513 N




